2005-2006 7TH GRADE CONTEST

Answers

Two different diameters of the same circle cannot
A) be perpendicular B) be parallel
C) be equal in length D) have a point in common

3L

9992 = 999 X V7
A) 999 B) 992 C) 999° D) 999

32.

At the seashore, when I put a large shell to
my ear, [ heard the largest 3-digit prime. In
that prime, the only digit that's prime is

A1 B3 Q5 D7

33.

The tens’ digit of the product 52%x2005% is (%3, “11
A0 B2 O4 D5 22

31

32.

33.

Of the whole-number multiples of 36 that are both more than
36 and less than 362, how many are squares of whole numbers?

A) 0 B) 4 Q) 9 D) 16

35.

wiw
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X ?

A B 3 9 B D) %7

35.

36.

(the product of all the factors of 100) + (100) =
A) 1 B) 100 C) 100* D) 107

36.

37.

If aAb/\c = aXc + bXc, then 7A8A9 =
A) 128 B) 135 Q) 272 D) 639

37.

38.

2
1+-2 =
3+é

5

10 10 3
A 132 B) 110 0 22

38.

39.

Speedy Rabbit ran once around an 800 m
track in 5 minutes. If Speedy had in-
creased his average speed by ? , he
would have finished in 20% less time.

A)20% B)25% C)30% D)40%

Fifty rabbits began a 30-minute race. When-
ever 2 dropped out, 1 joined in haste. If

2 dropped out 13 times, tell me then, how
many rabbits were in the race at the end?

A) 20 B) 24 C) 37 D) 39

The end of the contest @&y
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2005-2006 Annual 7th Grade Contest

February 21 or 28, 2006
Instructions

= Time You will have only 30 minutes working time for this contest. You

might be unable to finish all 40 questions in the time allowed.

m Scores Please remember that this is a contest, not a test—and there is no

“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-

swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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